Name:

Circle One: Linear” Exponential ) Neither
Circle One: Discrete

Domain? X‘—\/OL\UGS
-0,®
_CI)<X< o0 IM@U&(“’F&

Inyerval

D
Circle One: (Z Linear) Exponential Neither
Circle One: Discrete

Domain? é“wl a))
-~ Lx <

+2 <’0 5 > +b —2_——
{228+, +3
FZ e Ho D

U= +2X
J

Equation:

Circle One: Llnea Exponential Neither

Circle One ”Contmuous

=ail ekl
£0,2

A
gﬁ,n, :

Domain?

4. You invest $4,000 in a company and earn a 5% profit
— —_———

at the end of each year.
m oY a
0oF5= 1657, 0N Hms g&

Yoop(1.05Y"—> *7282.97

e 000105 ji

Circle One: Linear ( Exponent|al ) Neither
Circle One: Continuous

Domain? @ 2,3, OO)
Ranog ™= B @%ﬁ*(') E 4000, o)

5. Joe has a jar of 300 Reece’s pieces. Every hour he

reaches in the jar and gets ten plece:as nd eats them
quickly. lO

cquation: U= D= [0x
J

Circle Qﬂe ( Llnearg Exponential Neither

Circle One: Continuous

Domain? Haﬂzs EO) \,/Z_ ces 50]

£0,1,...30
@aﬂ%@i Pices (ard

Lo |0,...3a%
70,10...3003



Warmup

1) You are driving a race car. Each hour you gain 10 miles. You are driving for 9
hours. Linear or exponential?Discrete or continuous? Write out the domain and

range in all forms you know.

2) Mrs. Forrester is so excited to see her 7th period every day. Each day she sees
them, her excitement level increases by 2.5%. Her level starts at 6%. Linear or
exponential? Discrete or continuous? Write out the domain and range in all forms
you know?
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